il

g
=
s
i

1. ¥¥4
B4 R 6 KHENEKT — Z ERERS
JBA T KRBT [ T S i N

2. EBEAR

1) FEF4
2) BT 198 HH H 4&f1 64 67131
= S 6FE12H27H

3) &FEtHM
AEFIT, SUNHOTEGRRAE N THEA L O D ERE T — 2 X— 2D HE H

B o7, ERMRT —% DIEREEAT S B Th 5,

4) FEHBNA
BE TEERRILR) D LBY

E+sZi@E SN



i
I
St
%lljll
I

E£¥H4 | R 6 KMENERT — 2 (ERER ¥ BGES
HH EREET — X Bk ERS
THH - THE - FER BT % & 4 H OB RR
EREBLT — X VERCER v 1 10, 442, 184
EREHET — & 1Bk 2V 1 10, 442, 184
R = 1 279,252 | FHEHEf
1 K
B AT — 2 Bk X 1 7,500, 000 | #%fi - SXFT — & DVERL
32, 000 EHH
A A =TT —ZHifi5E - VERk
2, 500 e
A A=V XA MVT—HVERK
2, 500 e
ERREHT — 2 _X—2AFHHT— % X 1 1,620,000 | SEHHT—F OIERK
DIERL 2, 500 TEHH
F— R A DT - S =X 1 703,776 | T —HX—ADHEH
1 X
T N R DR
1 X
s EIER X 1 339, 156 | i EAERK
1 =
LA = 1 338, 000
Him GREHER) = 1 338, 000
Tavs = 1 338,000 | TAE
1 =
[EXE5 S = 1 240, 915
R v 1 240, 915
TR e v 1 67,915 | k& (EEE - HRW)
1 =

-1- E+sZi@E SN



PR NER =

ull
P

¥4 | R 6 KEEPNERT — X (B E BOES

H H B

THH - T - fER] A7 ¥ & & % OB ORR
ET R R E = 1 173,000 | FEFRRFSMVERE
1 =

EEEM (F s MR <) 2y 1 11, 021, 099
Z DA =X 1 5, 805, 129
— B PR 2y 1 9,053, 772
SERSMRS 2y 1 25, 880, 000

-2 - E+sZi@E SN



